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0 00O O public class Parcel6 { public Contents cont() { return new
Contents() { private int1=11. public int value() { returni. } }. // [
OO0O000000 }public static void main(String[] args) {
Parcel6 p = new Parcel6(). Contents ¢ = p.cont(). } } cont()J I [
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[1 class MyContents implements Contents { private inti = 11. public
int value() { return i. } } return new MyContents(). U 0O O 0O O O
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[0 O public class Parcel7 { public Wrapping wrap(int x) { // Base
constructor call: return new Wrapping(x) { // Pass constructor
argument. public int value() { return super.value() *47.}}.//
Semicolon required } public static void main(String[] args) { Parcel7
p = new Parcel7(). Wrapping w = p.wrap(10). } } 100Test L1 [ I [J
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